Grand Junction, Colorado October 7, 1925

The City Council of the City of Grand Junction, Colorado met in regular session at 7:30 o'clock P.M. with President Bell presiding. Those present and answering at roll call were Councilmen: Bear, Ellison, Logsden, Meders, & Bell. Councilman Moslander came in late. City Manager Thompson, City Clerk Peck & City Attorney Hinman were present. Councilman Short was absent.

The minutes of the last regular session were read and approved.

The cigarett license issued Mark R Bunting for the last half of 1925 was ordered transferred to J.A. Kinney by motion of Councilman Meders, seconded by Councilman Bear.

The following estimate was presented & read.

CITY OF GRAND JUNCTION, COLORADO.

OFFICE OF CITY ENGINEER

Oct 7 1925

ESTIMATE OF CONTRACTORS, WINTERBURN & LUMSDEE OF GRAND JUNCTION, COLORADO ON SIDEWALK DISTRICT NO. 9

ESTIMATE NO. 3 (Final)

118500 sq ft sidewalk @ 14 1/41 per sq ft		\$16,886.25
1834 cu yds excavation @ \$0.55	X	1,008.70

per cu yd		
1563 sq ft additional thickness in drive ways @ \$0.08 per sq ft		125.04
4250 sq ft alley crossings @ \$0.22 sq. ft		935.00
Force account Bill No. 1 Estimate # 2		121.54
Force account bill No. 2 Grubbing out trees, removing old concrete walks		
96 hrs labor @ \$0.50 per hour	\$48.00	
26 hrs Team work @ \$0.875 per hour	22.75	
	70.75	
Plus 15% on \$70.75	10.61	
	81.63	81.63
Total		\$19,157.89
Less previous payments Estimates Nos. 1 & 2		10,439.99

Amount due this	\$8,697.90
estimate	

I hereby certify that the foregoing is a full, true, and correct estimate of the work done by the above contractors on Sidewalk District No. 9.

/s/ T.E. THOMPSON City Engineer

Attest:

/s/ FRED A PECK City Auditor.

Councilman Meders moved, seconded by Councilman Bear that the estimate as read be allowed & that the City Auditor give legal notice to claimants of final settlement on October 21st 1925. Upon this motion the following vote was cast: Councilmen voting YEA, Bear, Ellison, Logsden, Meders & Bell. All the Councilmen present voting yea, the President declared the motion carried.

The City Clerk reported that he had checked up the petition for the Paving of Grand Ave. from First Street to Thirteenth Street and had found that the signatures contained therein represented more than 33 1/3% of the frontage, as required by ordinance.

Councilman Logsden moved, seconded by Councilman Meders that the President call the Board of Appraisers together provided for in the recently adopted People's Ordinance No. 19. Motion carried.

Warranty Deeds and an abstract to property known as the South Side Community grounds were presented to the Council.

Councilman Meders moved, seconded by Councilman Bear that the City of Grand Junction accept said property and that the City Clerk be instructed to place on file with the County Clerk the warranty deed to said land. Motion carried.

The verbal application of the White Eagle Oil Company to erect a White Eagle Sign at the filling station corner of S. 5th & Ute was refused by motion of Councilman Meders, seconded by Councilman Bear.

There being no further business to come before the meeting the Council adjourned upon motion of Councilman Bear, seconded by Councilman Meders.

/s/ Fred A. Peck City Clerk